JL_

|dentifying Tables from a Function

Name:

Solve each problem.

1) Which table of values can be defined by the function: y = 4x+2
D.

A.

2) Which table of values can be defined by the function: y = 2x-2
C.

A.

3) Which table of values can be defined by the function: y = 7x+7
D.

A.

4) Which table of values can be defined by the function: y = xx(-3)

x |y
3| -3
2| -2
oo
2 | 2

x |y
2| -6
1] -4
0|-2
1|0

x |y
1]-9
ol-8
2 | -6
3|5

A.

x |y
2] 6
ol o
2 | -6
4 | -12

B.

B.

B.

B.

X1y
-1 | -6
0| -2
1| 2
4 114

X

y

ArlWIN|PF

AIW[IN|PF

x |y
3|5
1] 09
2 | 10
3|11

x |y
30
2|1
03
2 |5

C.

C.

C.

x |y
-3 -10
1] -2
1| 6

4] 18

X |y
4| -6
ol 2
1| 4
2 | 6

x |y
3 -17
1| 15
2 | 23
3|31

x |y
4| -4
3] -3
2] -2
o|lo

D.

D.

5) Which table of values can be defined by the function: y = xx5

A.

X1y
-4 | 20
-11 5
0| O
1|-5

B.

X1y
0| O
1| 5
3|15
41 20

C.

X1y
-1 -20
O O
2 | 40
3 | 60

D.

x |y
2| -8
o] o
1] 4
4 | 16
x |y
1] -3
o-2
3|1
4 | 2
x |y
212
1]
1] 1
3|3
x |y
1] -3
olo
1] 3
2| 6
x|y
3] -11
BRI
3| 19
4| 24

Answers
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|dentifying Tables from a Function

Name:

Answer Key

Solve each problem.

1) Which table of values can be defined by the function: y = 4x+2
D.

A.

2) Which table of values can be defined by the function: y = 2x-2
C.

A.

3) Which table of values can be defined by the function: y = 7x+7
D.

A.

4) Which table of values can be defined by the function: y = xx(-3)

x |y
3| -3
2| -2
oo
2 | 2

X |y
2| -6
1] -4
0|-2
1|0

x |y
1]-9
ol-8
2 | -6
3|5

A.

x |y
2| 6
ol o
2 | -6
4 | -12

B.

B.

B.

B.

X1y
-1 | -6
0| -2
1| 2
4 114

X

y

ArlWIN|PF

AIW[IN|PF

x |y
3|5
1] 09
2 | 10
3|11

x |y
30
2|1
03
2 |5

C.

C.

C.

x |y
-3 -10
1] -2
1| 6

4] 18

X |y
4| -6
ol 2
1| 4
2 | 6

x |y
3 -17
1| 15
2 | 23
3|31

x |y
4| -4
3] -3
2] -2
o|lo

D.

D.

5) Which table of values can be defined by the function: y = xx5

A.

X1y
-4 | 20
-11 5
0| O
1|-5

B.

X1y
0| O
1| 5
3|15
41 20

C.

X1y
-1 -20
O O
2 | 40
3 | 60

D.

x |y
2| -8
0] 0
1] 4
4| 16
x |y
1-3
o-2
31
4| 2
x |y
2| -2
BN
1] 1
3| 3
x |y
1 -3
oo
1] 3
2| 6
x |y
3] -11
1]
3| 19
4| 24

Answers
1 C
2 A
3 D
4, A
5 B
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